
www.dickinsonmarine.com ~ info@dickinsonmarine.com 

 
Form# 7.2-36  

 

 

 

 

TAFF MOUNT 

PART# 15-187 
 

This mounting kit has been designed for use with your Dickinson BBQ. It 

will fit the following products: 

• Sea-B-Que Small 

• Sea-B-Que Large 

• Sea-B-Que Round 

• Spitfire 180 Grill 

 

While this BBQ mount is a very strong and durable mount, it is not 

recommended to leave the Bar-B-Que attached to the mount whilst 

underway, especially in rough seas.  It is recommended to remove the BBQ 

whenever the boat is moving as the mount could shake loose from the 

sockets in choppy water 

 

Included Parts 
 

2 x Socket 

2 x Stanchion 

2 x Side Brackets 

4 x 10-32 x 3/8 Screw 

4 x 10-32 Hex Nuts 

6 x #12 x ¾ Wood Screw 

1 x Instructions 

 

 

 

 

 

 

 



www.dickinsonmarine.com ~ info@dickinsonmarine.com 

 
Form# 7.2-36  

 

 

Instructions for Use 
  

Installing the Sockets 

 
1.  Drill out the holes where the sockets will be located.  The sockets are 1" in diameter 

so the hole needs to accommodate this.  The distance between the holes will vary 

dpending on which BBq you have.  11 13/16" center to center for the Large, Small Sea-

B-Ques and the Spitfire180 and 9 3/16" for the round BBQ 

 

 
 

 

 

 

 

 

 
2.  Once the holes are drilled insert the sockets and secure them to the rail with the 6 #12 

x ¾" wood screws 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



www.dickinsonmarine.com ~ info@dickinsonmarine.com 

 
Form# 7.2-36  

 

Attaching the Mount to the BBQ 

 
1.  Undo the nuts holding on the legs of your Sea-B-Que 

2.  Place the bracket over the bolts coming through the legs 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3.  Place the lock washers and nuts over the top of the bracket and slide the stanchion into 

the bracket (plugged hole slides into brackets) 

4.  Thread the 10-32 x 3/8" screws through the lower holes in the legs and through the 

brackets 

5.  Place the 10-32 nuts onto the screws and tighten al nuts once desired position on the 

stanchion is achieved 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6.  Drop the other end of the stanchions into the sockets in the rail and enjoy your BBQ 

 

 

 

 

 



www.dickinsonmarine.com ~ info@dickinsonmarine.com 

 
Form# 7.2-36  

 

Dimension Diagram 
 

 

 

 

 

 

 

 

 


